

149.65%

181.17%

314.73%

\$380,146.00

\$460,211.00

\$799,466.00

	Vendor Ranking Pa									
Letti	ing:	05201006	October 06, 2020 02:00 PM	Call Order	: 003		Contract:	E52A3		
Dist	District: District 5			Counties:	SEMIN	OLE	Fed Aid No	: N/A		
Con	tract Time:	80 AVAILAB	LE DAYS				Project(s):	44539615201	(*)	
Con	Contract Desc: SR 434 OVER OUTFALL BRIDGE# 77003			1						
Rank	K		Vendor	Bio	d Type	Bid Status	•	Total Bid	Percent Of Low Bid	
1	PROSHOT	CONCRETE	, INC.	Res	ponsive	Winning bid		\$254,016.00	100.00%	
2	TRAILS CL	EARING SEF	RVICE LLC	Res	ponsive	Non-Winning Bid		\$262,351.80	103.28%	
3	COASTAL	GUNITE CON	ISTRUCTION COMPANY	Res	ponsive	Non-Winning Bid		\$265,166.00	104.39%	

Responsive

Responsive

Responsive

Non-Winning Bid

Non-Winning Bid

Non-Winning Bid

4 SIEG & AMBACHTSHEER, INC.

5 MIDWESTERN CONSTRUCTION, INC

6 ROGAR MANAGEMENT & CONSULTING OF FLORIDA LLC

NOTE: Failure to file a protest within the time prescribed in section 120.57(3), Florida Statutes, or failure to post the bond or other security required by law within the time allowed for filing a bond shall constitute a waiver of proceedings under chapter 120, Florida Statutes.



Tabulation of Bids

Letting:	05201006	October 06, 2020	Call Order:	003	Contract: E52A3
District:	District 5		Counties:	SEMINOLE	Fed Aid No: N/A
Contract Time:	80 AVAILABL	E DAYS			Project(s): 44539615201 (*)

Contract Descr: SR 434 OVER OUTFALL BRIDGE# 770031

The Improvements under this Contract consist of desilting and shotcrete rehabilitation of a three-barrel concrete box culvert crossing under SR 434 (Bridge No. 770031), removal of sediment buildup and vegetation adjacent to culvert openings, and tree removal in Seminole County.

BUSINESS DEVELOPMENT INITIATIVE -- Bidders must be a "Small Business" as defined by FDOT. Small business size standards can be found at https://www.fdot.gov/equalopportunity/bdi.shtm.

For more information about bidding on BDI projects, please see the training guide located at http://www.cmdp-bgp.com/bdiprojects.html.

Pregualification per Rule 14-22 is not required.

Bidders must complete and submit the Small Business Affidavit (Form No. 275-000-01) for approval prior to receipt of bid documents. The form may be accessed at: https://www.fdot.gov/egualopportunity/bdi.shtm.

It is only necessary to submit the Small Business Affidavit (SBA) form once per year.

Send a completed and notarized affidavit as an attachment to: fdot.bdi@dot.state.fl.us.

All Sublet work must be contracted to a small business or businesses as defined by the Department. The subcontractor must also submit a notarized Small Business Affidavit Form provided by the Department prior to the start of work.

Bidders must submit the BDI Reference Sheet (Form No. 275-000-02) with the bid unless the bidder is pregualified in the project's major work type, per rule 14-22, Florida Administrative Code.

Upload the completed BDI Reference Sheet (Form No. 275-000-02) as a zip file suing the "File Attachment Upload" folder in the AASHTOWare Project Bids application.

BDI Reference Sheet may be found at: https://www.fdot.gov/equalopportunity/bdi.shtm.

Proposal Guaranty of \$500 is required for bids over \$150,000 and may be in the form of a Cashier's Check, the BDI Bid or Proposal Bond (Form No. 375-020-16), or the standard Bid or Proposal Bond form, (Form No. 375-020-09).

Line No / Item ID Alternate	Quantity Units	(1) PROSHOT IN	I CONCRETE, IC.		CLEARING		TAL GUNITE
() indicates item is bid as Lump Sum		Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount

Page 1 of 6



11/17/2020

Tabulation of Bids

Page 2 of 6

Letting	j: 052	201006	October 06, 202	20 Cal	I Order: 003		Contract:	E52A3	
	Line No / Item ID Alterna Item Description		Quantity Units	(1) PROSHOT INC		(2) TRAILS CLEARING SERVICE LLC		(3) COASTAL GUNITE CONSTRUCTION COMPANY	
() indi	icates item is bid	as Lump Sum		Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
	SECTION:	0001	Structures						
0005 RESTOF SHOTCF	0401 70 7 RE SPALLED A	REAS,	645.800 CF	250.00000	161,450.00	125.00000	80,725.00	225.00000	145,305.00
		Structures So	ection Totals:		\$161,450.00		\$80,725.00		\$145,305.00
	SECTION:	0002	Roadway						
0010 MOBILIZ	0101 1 ATION 445396	15201	(1.000) LS	10,000.00000	10,000.00	36,650.00000	36,650.00	25,000.00000	25,000.00
0015 MAINTE 4453961	0102 1 NANCE OF TR. 5201	AFFIC	(80.000) DA (LS)	20,000.00000	20,000.00	25,000.00000	25,000.00	19,255.00000	19,255.00
0020 FLOATIN	0104 11 NG TURBIDITY	BARRIER	144.000 LF	20.00000	2,880.00	10.50000	1,512.00	4.00000	576.00
	0104 12 TURBIDITY B/ RCED PVC	ARRIER- NYL	46.000 .ON LF	25.00000	1,150.00	5.80000	266.80	2.50000	115.00
0030 CLEARIN	0110 1 1 NG & GRUBBIN	NG 445396152	(0.040) 201 AC (LS)	6,000.00000	6,000.00	60,000.00000	60,000.00	35,000.00000	35,000.00
0035 TREE RE	0110 23 EMOVAL		4.000 EA	1,000.00000	4,000.00	5,563.00000	22,252.00	2,145.00000	8,580.00



11/17/2020

Tabulation of Bids

Page 3 of 6

Letting: 05201006 Octo	ober 06, 202	20 Ca l	I Order: 003		Contract:	E52A3	
Line No / Item ID Alternate Item Description	Quantity Units	(1) PROSHOT IN((2) TRAILS (SERVIC		<u>, , , , , , , , , , , , , , , , , , , </u>	AL GUNITE ON COMPANY
() indicates item is bid as Lump Sum		Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION: 0002 Roa	adway						
0040 0120 3 LATERAL DITCH EXCAVATION	13.300 CY	500.00000	6,650.00	250.00000	3,325.00	250.00000	3,325.00
0045 0430950 DESILTING CONCRETE BOX CULVERT	55.400 CY	400.00000	22,160.00	200.00000	11,080.00	150.00000	8,310.00
0050 0550 10420 FENCING, WOOD FENCE, 5.1-6.0'	46.000 LF	60.00000	2,760.00	52.50000	2,415.00	75.00000	3,450.00
0055 0550 60422 FENCE GATE, WOOD, DOUBLE, 6.1-12. FOOT OPENING	1.000 0 EA	800.00000	800.00	3,500.00000	3,500.00	1,200.00000	1,200.00
0060 0570 1 2 PERFORMANCE TURF, SOD	12.000 SY	100.00000	1,200.00	55.00000	660.00	7.00000	84.00
0065 0999 25 INITIAL CONTINGENCY AMOUNT, DO NOT BID 44539615201	(1.000) LS	14,966.00000	14,966.00	14,966.00000	14,966.00	14,966.00000	14,966.00
0002 Roadway Section	on Totals:		\$92,566.00		\$181,626.80		\$119,861.00

Contract Grand Totals:

\$254,016.00

\$262,351.80

265,166.00



Tabulation of Bids

Page 4 of 6

Letting:	05201006	October 06, 20	20 Ca l	Il Order: 003		Contract:	E52A3	
Line No / Item ID Alternate Quantity Item Description Units					(5) MIDWESTERN CONSTRUCTION, INC		(6) ROGAR MANAGEMENT & CONSULTING OF FLORIDA	
() indicates iten	n is bid as Lump Sum		Unit Price	Ext Amount	Unit Price	Ext Amount	LI Unit Price	LC Ext Amount
SECTI	ON: 0001	Structures						
0005 0401 70 RESTORE SPAL SHOTCRETE		645.800 CF	200.00000	129,160.00	325.00000	209,885.00	1,000.00000	645,800.00
	0001 Structures	Section Totals:		\$129,160.00		\$209,885.00		\$645,800.00
SECTI	ON: 0002	Roadway						
0010 0101 1 MOBILIZATION 4		(1.000) LS	100,000.00000	100,000.00	65,000.00000	65,000.00	25,000.00000	25,000.00
0015 0102 1 MAINTENANCE 44539615201	OF TRAFFIC	(80.000) DA (LS)	25,000.00000	25,000.00	47,500.00000	47,500.00	25,000.00000	25,000.00
0020 0104 11 FLOATING TURE		144.000 LF	15.00000	2,160.00	25.00000	3,600.00	10.00000	1,440.00
0025 0104 12 STAKED TURBIE REINFORCED P	DITY BARRIER- NY	46.000 ′LON LF	10.00000	460.00	10.00000	460.00	10.00000	460.00
0030 0110 1 CLEARING & GR	1 UBBING 44539615	(0.040) 5201 AC (LS)	35,000.00000	35,000.00	62,500.00000	62,500.00	28,000.00000	28,000.00
0035 0110 23 TREE REMOVAL		4.000 EA	1,000.00000	4,000.00	825.00000	3,300.00	1,000.00000	4,000.00



11/17/2020

Tabulation of Bids

Page 5 of 6

Letting:	05201006	October 06, 20	20 Ca l	II Order: 003		Contract:	E52A3	
Line No / Iter Item Descrip		te Quantity Units	(4) SIEG & AME ING		(5) MIDW CONSTRUC		(6) ROGAR MA CONSULTING	OF FLORIDA
•	m is bid as Lump Sun		Unit Price	Ext Amount	Unit Price	Ext Amount	LL Unit Price	<u>.C</u> Ext Amount
SECT	ION: 0002	Roadway						
0040 0120 3 LATERAL DITCI		13.300 CY	1,000.00000	13,300.00	1,000.00000	13,300.00	1,000.00000	13,300.00
0045 043095 DESILTING COI	0 NCRETE BOX CUL	55.400 VERT CY	700.00000	38,780.00	650.00000	36,010.00	500.00000	27,700.00
0050 0550 1 FENCING, WOC	0420 9D FENCE, 5.1-6.0'	46.000 LF	200.00000	9,200.00	40.00000	1,840.00	100.00000	4,600.00
0055 0550 6 FENCE GATE, V FOOT OPENING	VOOD, DOUBLE, 6	1.000 5.1-12.0 EA	8,000.00000	8,000.00	650.00000	650.00	8,000.00000	8,000.00
0060 0570 1 PERFORMANCI		12.000 SY	10.00000	120.00	100.00000	1,200.00	100.00000	1,200.00
0065 0999 2 INITIAL CONTIN NOT BID 445396	GENCY AMOUNT,	(1.000) DO LS	14,966.00000	14,966.00	14,966.00000	14,966.00	14,966.00000	14,966.00
	0002 Roadway	Section Totals:		\$250,986.00		\$250,326.00		\$153,666.00

Contract Grand Totals:

\$380,146.00

\$460,211.00

799,466.00



Page 6 of 6

Letting:	05201006	October 06, 2020	Call Order: 003	Contract:	E52A3					
NOTE: Failure to file a protest within the time prescribed in section 120.57(3), Florida Statutes, or failure to post the bond or other security required by law within the time allowed for filing a bond shall constitute										

a waiver of proceedings under chapter 120, Florida Statutes.